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# include <stdio.h>
main ()
{
intA=5;
printf (" The value of Ais: %d\n", A) ;
printf (" The address of Ais: %p\n", &A) ;
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The value of Ais: 5
The address of A is: 1004
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# include <stdio.h>
main ()
{
intA=5;
int *pA ;
pk = 8A;
printf ("the address of Ais: %p\n", pA) ;
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int «pl, «p2 , «p3 ;




float «p4 , «p5 ;
char «p6 , «p7 ;
il 3,15 518 S o Ll pusio 5> Ol Gw)sl aS Syusio Hlase @ wsulsws Sy (W
pl =8&a;
pl=a;
w
S axgi ) ey u 2.8 JUo ©
# include <stdio.h>
main ()
{
char « pch ;
charchl ="Z2",ch2;
printf ("the address of pch is %p" , &pch) ;
pch = &chl ;
printf ("the value stored at pch is %p\n" , pch) ;
printf ("the value stored at the address pointed by pch is %c\n" , «pch) ;
ch2 = «pch ;
printf ("the value stored at ch2 is %c\n" , ch2) ;
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the address of pch is 1004

the value stored at pch is 2001

the value stored at the address pointed by pch is Z
the value stored at ch2 is Z
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# define NULL 0
float x , vy ;
float *pr = NULL ;
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char *p ;
p=0;
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char *p ;

while (p)
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#include<stdio.h>
main ()
{
int *px, *py ;
staticint A[6]={1,2,3,4,5,6};
px = &A[0] ;
py = &A[5] ;
printf("px=%x py=%x", px, py) ;
printf("\n py — px =%x" , py - px) ;
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px < py
px >= py
pXx = = py
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if (px<py)
printf ("px points to lower memory than py") ;
else
printf ("px points to upper memory than py") ;
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main ()
{
intx=4,y=7;
gets2 (x, y) ;

void gets2(xx, yy) /* print out values of two arguments */
int xx, yy;

printf ("first is %d , second is %d" , xx, yy) ;
b
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main () Gets2 (xx, vy)

{ int xx, ¥y,
int x=4; {
mtx=7; printf("first 1s %d | second
gets2 (x, ¥); 15 %d" , xx, yy) ;

}
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#include <stdio.h>
main ()
{

intcount=7;

int add(int) ;

printf ("the original value of count is %d\n" , count) ;

count = add (count) ;

printf ("the new value of count is %d\n" , count) ;

¥
int add(int c)

{

return ++c ; \* incrementsl variable ¢ */
¥
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the original value of count is 7
the new value of count is 8
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# include <stdio.h>
main ()
{

intcount=7;

int add (int *) ;

printf("the original value of count is %d\n" , count) ;

add (& count) ;

printf ("the new value of count is %d/n" , count) ;

¥
void add (int *countptr)

+ + (*countptr) ; /* increments count in main */
¥
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the original value of count is 7
) the new value of count is 8 ~ i
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void add (int «countptr)
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#include<stdio.h>
main ()
{
intu=1;
intv=3;
void funcl (intu, intv) ;
void func2 (int *pu , int *pv) ;
printf (" Before calling funcl: u=%dv=%d",u,v);
funci(u, v);
printf (" After calling funcl: u=%dv=%d",u,Vv);
printf (" Before calling func2: u=%d v=%d ", u,v);
func2(u, v) ;
printf (" After calling func2: u=%d v=%d ", u,Vv);
b
void funcl (intu, int v)
{
u=0;
v=0;
printf (" Within funcl: u=%dv=%d",u,vVv);
return ;
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void func2 (int *pu , int *pv)
{
*pu=0;
*pv=0;
printf (" Within func2: *pu=%d *pv=%d " , *pu, *pv) ;
return ;
b
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Before calling funcl: u=1v=3
Within funcl: u=0v=20
After calling funcl: u=1v=
Before calling func2: u=1v
Within func2: *pu=0*pv=20
After calling func2: u=0v=0
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#include <stdio.h>
# include <math.h>
main ()
{
floata,b,c,x1l,x2;
scanf ("%f %f %f" , &a , &b, &c) ;
root(a, b, &1, &x2) ;
if(x1 ==08&&x2 = = 0)
printf ("\n %f %f %f no real solution" ,a, b, c);
else
printf ("\n %f %f %f %f %f",a, b, cx1, x2);
b

voidroot (a, b, c, pxl1, px2)
floata, b, c, *pxl, *px2;
{
float d , delta ;
delta = b*b - 4*a*c;
if (delta < 0)
{*px1 =*px2 =0;
return ;
¥
else
{d = sqrt (delta) ;
*px1 = (-b+d) / (2*a) ;
*px2 = (-b-d) / (2*a) ;
return ;
b
¥ ]
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char str[80] , *p ;
p =str;
H9iwd 95 byl owl byl jaic Gl Gyl Olod ayl)l oU aS pulscso
p = &str[0] ;
p =str;
sy U pudlgzy S Ul . cawl oaui 031> L3 (bl saie Gudol Gw)sl wsuss) @bl Guysl p 53 0,0l 55 Vb 60U, aghd 55 Guy 05l e
pad> pll 5 gy 93 A ) LIS Ll puslgiose puil @il (s iws S > Haic
str[4]
L
*(p+4)
A3, oy |y paic puaiy oiws 93 4
inta[15], *p;
p = &a[0];
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S Joc alk] sl pgarw *(@ + K) sk guod o *(p + K) G, 11wl gl 5l oslaiwl Gug, 5l y&emw S 0yLal susb sl al)l
owl C0bj 5 Welxio Hlewy Gugy cauly] yolic 4y wsulicws Sl ,Se,lal 5l oslaiwl blx)
S a=gi 5 8y 9 @ *(p+K) 9 *(p+K) Slpssle 5> K s sl JI>
main ()
{
static int nums[ ] = {92,81, 70,69, 58} ;
intk;
for (k=0 ; k<5; k+ +)
printf (" %d\n ", nums[k]) ;
¥
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92
81
70
69
58
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/* uses pointers to print out values from array */
main ()
{
static int nums[ 1= {92, 81, 70, 69, 58}
intk;
for (k=0 ; k<5 ; k++)
printf (" %d\n ", *(nums + k)) ;

b o315 58,51 Solure > 58 58,5 Ol 53 aS cowl NUMS 5l asy @l K Slgizo *(NUMS+K) I ehaio aS ad> s Llin 3.8 JSLi
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nums[0] = «(nums + 0)
nums +1 —» nums[1] =+(hums + 1)

nums + 2 —» nums[2] = +(nums + 2)

nums +3 —» nums[3] =+(nums + 3)

nums +4 —» nums[4] = +(nums +4)
58

nums + 3 = 1400 + 3*2 =1406
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owl Sy *(array + index) U array[index] aS sgi s aseis YU >;lgo 5l
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# include <stdio.h>
main ()

static int x[6] = {10, 11, 12, 13, 14, 15};
inti;
for (i=0; i<6 ; + +i)
printf("\n i =%d x[i] = %d *(x+i) = %d &x[i] = %x x+i =%Xx", i, x[i], *(x+i) , &[i] , x+i) ;

Wby os>9,>
x[i] = 10 «(x+i) = 10 &x[i] = 72 X+i =72
x[i] = 11 «(x+i) = 11 &x[i] = 74 x+i =74
x[i] = 12 «(x+i) = 12 &x[i] = 76 X+i =76
x[i] = 13 «(x+i) =13 &x[i] = 78 x+i =78
x[i] = 14 «(x+i) = 14 &x[i] = 7a x+i=7a
x[i] = 15 «(x+i) = 15 &x[i] = 7c X+i=7c
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ol 02w
5,8 oslasiwl 3 wygo @ malloc U 5l Ulgicsw S paic 10 Slesll (88,20 wip> @ @ Lo 3,90 8b8l> Lolais! Sl
a = malloc (10 « sizeof(int)) ;
b sy | int osls g95 o8 ,50 Sizeof ,gilnl YU jeiws 55 .06 (s 9,5, duseo pdlio 10 Us)S 0.5 Sl Slakdls> soly gl ol
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a = (int «) malloc (10 « sizeof (int)) ;
owl pgwge Loy Wige @ abdls jolais jug, 4 abdls jolaisl CUgg ol
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inta[10]={1,2,3,4,5,6,7,8,9,10};

inta([]={1,2,3,4,5,6,7,8,9, 10}
()
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oo 14.8 Jlio 55 3590 cows oo 3590 Gl 53 [y o3V du,xi S5bw @ Gupei oS b Ulgicsw g cylswo b @y wsmabpne oS 1S 5lel s
.‘J).ASLS\.D )|)9 U )d g UJ' )| o> leswl L)).U qu)l ).ol...c (D9 SO osls wlaw malloc &)LJ )| oslawl uw9) assl
S o o ,Se Lol 5l osleiwl b g 1lg s S39)9 5l 1) slacl 5l Slacgoxo 55 80l 14.8 JUo ©
# include <stdio.h>
main ()
{
intk, m, *a;
void sort (int k , int *a) ;
scanf ("%d" , &m); /* read in a value for m */
a = (int*) malloc (m « sizeof(int)) ; /* allocate memory */
for (k=0 ; k<m; + +k) /* read in the list of numbers */
scanf ("%d" , a + k) ;
sort(m, a);
for (k=0 ; k<m ; + +k) /* display sorted list , elements */
printf ("\n k=%d a =%d" , k+1, *(a+k)) ;
b

void sort (int m, int *a) /* sort array in ascending order */
{
inti,j,temp;
for (i=1; i<m; + +i)
for (j=0; j<m-i ; + 4j)
if (*(a+j) < *(a+j+1))
{

temp = *(a+j) ;
*(@tj) = *(a+j+1) ;
*(a+j+1) = temp;
¥
return ;
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data-type (*ptvar)[d2] ;
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data-type array [d1][d2]...[dn] ;
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data-type (*ptvar)[d2][d3]...[dn] ;
22,8 b gl 18 olic possSle wuiyi @ 5w dl, d2 ..., dn Lolic . cowl @] U 50 array g al)] olic g5 data-type Ll s aS
ol S0,Lil usio U 5w ptvar aS asS asgi o)y Lslal)]
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main ()
{
float func() ;
float x , array[15] ;
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func(ar) func(ar)
float «ar ; float ar[ ];
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int *x[10] ;
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void FF1 (int *a[ ])
{

intk;
for (k=0 ; k<10 ; k+ +)
printf (" %p" , *a[k]) ;
¥
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# include <stdio.h>
main ()

int X, «p, =q;

x=10;

p=8x;

q=8p;

printf ("%d" , «q) ; / * print the value of x */
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char far *ptr ;
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.int«p ; .int«p(charal ]);
.int «p[10] ; . int «p(char (=xa)[ 1) ;
.int (+p)[10] ; .int «p(char «a[ 1) ;
. int «p(void) ; .int («xp)(char (xa)[ 1) ;
. int p(char xa) ; .int «(xp)(char (xa)[ 1) ;
. int «p(char «a) ; . int «(«xp)(char «a[ 1) ;
. int («p) (char «a) ; . int (xp[10])(void) ;
. int (xp(char «a))[10] ; . int (xp[10])(char a) ;
.int p(char(a)[ 1) ; . int «(+p[10])(char a) ;
0. int p(char «a[ ]) ; . int «(+p[10])(char xa) ;
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